RA4A_i "RA" 8 Leg Fitting Kit, Aluminium Rack (10of9)

A511 11 HY TWIN DOORS

—— a7 2\
/ 1902mm \ —~
N AR )
e ) —
1/ | o~

150kg - 3200mm
" 4748mm

A512 L1, A1, TAGATE

« ~ 11302mm

e

Y

7N P N g
e M 4 ’-) \ “.
L —

[ N
— | Max. L/ y | :
P e— —— & _\ Max. SETTE . &,
32kg i . 4748mm ;

-

VITO 2003-2015

A5‘I 3 L2, H1, TWIN DOORS
// N;QOme 7 \ -
oy

7N, 7N pE
CFI;J;-;- = Max _—__'\;)"' | \-}
150kg - 3200mm

38kg . 4993mm

VITO 2003-2015

A5 ‘I 4 L2, H1, TAILGATE
AR...

(_'f" s - __\_}1902mm - |L
L ey "

./ U } \
-— 1 1 —m & =| M W s "
35kg _ - 4993mm =

Manufactured by Rhino Products Ltd in the United Kingdom




RA4A | "RA" 8 Leg Fitting Kit, Aluminium Rack

(20f9)

A515

VITO 2003-2015
L3, H1, TWIN DOORS

- —

& '1

( J1902mm
" N NS
G e | o,

e e— —— Y Max.
g 3430
39kg 5223mm
VITO 2003-2015
A5 1 6 L3, H1, TAILGATE
y - -\\.‘ - f
( __ 1902mm
| ‘;", : S ":'// ‘ N J —l.//-—‘-'\\l. \
P ——— & =] Max || " astmm— \J
36kg = 5223mm
VITO 2015-
A643 L1, H1, TWIN DOORS / I l
y \\ R 7 / W
1902mm |
7o\ 7 J ey
o & —  Max A 4 '\f_f . . 4
= | 150kg - 3200mm
35kg , 4895mm
VITO 2015-
A644 L1, H1, TAILGATE
2R B
(/.-}:'\_ N Jtlgozmm -
@ o | -OF
- L1 1 & =| flax = 3200mm % a &
34kg 9 4895mm

Manufactured by Rhino Products Ltd in the United Kingdom




RA4A i "RA" 8 Leg Fitting Kit, Aluminium Rack (30f9)

B e . — Max L /—'\ ' / ! _,ii; 4 =)
) = | 150kg ~ 3200mm -
37kg ‘ " 5140mm .

VITO 2015-
Ab45 L2, H1, TWIN DOORS
y —'\‘ P _'..
/; 11902mm . s
‘\. :';7'.'%" 'i'g'_‘-'\\."l 3 -"j.'/- “ -;T:',._ J
#-{-& — 1'28)'29 k-.;.j 3200 @ ' \ 4
40kg ‘ 5140mm
VITO 2015-
A 6 4 6 L2, H1, TAILGATE
A | -
{ /_ \ _\_Lj1902mm |

N 7N Tz
) e e U T _./: R
= e m—— ﬂ = | M || NPT &
" mm -
41kg ‘ :

VITO 2015-

Ab47 L3, H1, TWIN DOORS

y R |

|
;- 11902mm -

5370mm
VITO 2015-
A648 L3, H1, TAILGATE
N | . z '

(I/; X 7 Jl1902mm o |1 350mm

L.‘{\ ey ./; i \\';L_J e
23 & = | f50kg ——3430mm —= " \ Y & B n

38kg : 5370mm .

Manufactured by Rhino Products Ltd in the United Kingdom




RA4A i

"RA" 8 Leg Fitting Kit, Aluminium Rack (40f9)

&

MS176 x 4

MS259R x 1

MS259L x 1

MS260R x 1

MS260L x 1

22

EXT09-004 x 8

PSO89 x 1

PSO20 x 1

.

MS019 x 6

——

PS046 x 8

(1:1)

= (O

™ _—

FBOO3 (M8 x 65) x 16 FW002 (M8) x 32 FNOO6 (M8) x 16

© O

FSO38 (M6 x 25) x 16 FSO41 (M6 x 16) x16 FWO0O01 (Mé) x 32 FWO008 (M6) x 16 FNOOT (Mé) x 16

G  (O)

FSO59 (M8 x 25) x 22 FN023 (M8) x 22

C <=

13mm x 2

O
Q)

10mm x 2

Manufactured by Rhino Products Ltd in the United Kingdom




RA4A i "RA" 8 Leg Fitting Kit, Aluminium Rack (50f9)

2.

MS259R MS176 MS260R

—_—
15 - 20mm
25 - 30mm

MS259L MS176 MS260L

Manufactured by Rhino Products Ltd in the United Kingdom



RA4A i

"RA" 8 Leg Fitting Kit, Aluminium Rack

(60f9)

xxxd

@

A=Mb6x16
B=Méx25
C=Mé6x25

1'0.."

Manufactured by Rhino Products Ltd in the United Kingdom




RA4A i "RA" 8 Leg Fitting Kit, Aluminium Rack (70f9)

14. 30mmMIN 15.

17. 18.

SGuinep = B 3

SHIEON RGRIEGR
$Gunimp Guusp | | Gununp @

@
I
I
I
|
I
I
I

Manufactured by Rhino Products Ltd in the United Kingdom




RA4A i

"RA" 8 Leg Fitting Kit, Aluminium Rack

(80f9)

21.

Manufactured by Rhino Products Ltd in the United Kingdom




RA4A i "RA" 8 Leg Fitting Kit, Aluminium Rack (9 of9)

Manufactured by Rhino Products Ltd in the United Kingdom




	Sheet1
	Drawing View41

	Sheet2
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View64
	Drawing View65
	Drawing View66
	Drawing View67
	Drawing View68

	Sheet3
	Drawing View58
	Drawing View69
	Drawing View70
	Drawing View71
	Drawing View72
	Drawing View73
	Drawing View75
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80

	Sheet4
	Drawing View81
	Drawing View82
	Drawing View83
	Drawing View84
	Drawing View85
	Drawing View86
	Drawing View87
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View91
	Drawing View92

	Sheet5
	Drawing View42
	Drawing View43
	Drawing View52

	Sheet6
	Sheet7
	Sheet8
	Sheet9
	Sheet10

